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SeXs: Nasies, operations , ihontities

Cuncons: domgia e¥cy Injlsury [ bi), Compogition, javerses
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Probabyil ity
Oefins (event, sample space, etc.)
Basic examples (.9, coins, dice, cants)
Tnde pendence
Bernoullk trials
Conditional probability L Bayes' Thm.

Recurre nee velhs
Basic \deas Qxahples
Linear (\V\“\omoqehcoo\s rec. relns, awd hows t solve

Inclusion -Exclusion £ applications (Vwkeger egns, deransements)
OXher Xips:

Look % W/, quizaes, lechure netes, textfook, otker problems
Phs (or &\l topics, but particularly whore we've done pfs)

Methods (5. skicks and stones)
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PR We consider the. Yask of Choostng & Comm Tee (of Ghy
size) ouwf of n peovle , oA chooting one w“hrlke



M mber 4o W the chair.
MeXwod 1 :
¢ (hoose the size k of dhe commithee
* Choote ke . membeys of the committee — ('\.\_) ays
* Cwoose one of dlose members 1o % the chair — L ways

Tolal num. ways: h%- (R = hZ':\('\l\‘l

Me fled L
* Ohoote Yo chair — n Ways
* Yor 2adn 0f the nl remaining pesple,
cWoose u\n?(\QV‘ of hat -k\n,y‘r-c on
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E= {216 and =18§

=5 ¢1nt
Pre € gnd © indiependent of
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Selk: Recall Aot €0 € gre Wwaep. if e(EAT)= p(E) p(F)

o) We can do Xhis ecplicitly
GG @ € Calse, € trae RG: £ Yrwne, ¥ dvue
GB8: B Yrwe, Y fruc 8B: E false, ¥ false

JCE "{ e(6)= -‘t—‘- \3(,E) P(f\'-‘ -;-_--%‘—:%
vlenf)= % # 3= ple)ply)
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\0\ Verz v Sample Tpace S has e |5 = 1Y Hy Ye Prod. rale .

€ s Glse in wackly the fMowdny cases: GG(-(;, BRRB
o p(©)= \-pE)= l'%‘- = 3

?
Y s Yrue in exactly Y fllowing cases: 666G, GGEB, GGG,
GBGG, BGGe
Se P(f) = %Q.

TAT &5 drae in exactly the fllowing cares: GG6B, GLEG,

® o

-L. 8238 4 4.
p(E)p(o)- 5T e # g ~P(EAY

e €,€ are not indep.

W) Bere B Sample space S has sine |5] <5 by He Prod. rule.

€ s Golse in wactly the f~\\own‘w_, cafes ! C-C,(,GG, BBRBR

So ()= \-p(E)= -5 = ‘|—i

Y s drue in aactly He following cases: 66666, LG66B, CLG8G,
66866, GBCGL BoLsy
Se P(,?): L'}
3L
EAT is Yrue in exactly the following cases: GG66B, 6eE8G,

5o p(EAT): S C6BGE, GBGGL BoLsy
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